Remembering Relatives
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Related keys share the same key signature. You can work out the relative minor of any

major key by ‘counting’ down 3 semitones. In Grade 2 we learned that the best way to

remember relatives is to make up a word beginning and ending with the letters of the

related keys!
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Write these key signatures {uaich oot fm cief c'\anges!)i

#’5 - /
&+ T & 1T O 1 > M I
1V 40 I AW Y 1= y= 1l LN -3 0
1K Fan Nay v 1 1.4 1
A7 T | N4 il v 1 11
o) [y o)
D major E minor D minor F major & major

DD YOU HNOW... B v s ot actally one of the ke et o sady n Gade 3

Dot since D minor s I ma(jOr)s relatie minor, s kandj to know it anjuaj!




E Major and the Sharps

E major is our new sharp key in Grade 3. Now we know four major keys with sharps:

{) & 0 4 Nt s
P2 P A N F & LLTY B LT
i 7 iy AN N TIL
| Fan [ & au WL | e WL [ v WS
ANEY.4 NS AT
() e) e) [
N L Lk TN
r4n XX | F XN . ey L 4 O . S N
bl X - — el halll LN - XVA 11 hulll W JVR UK. 4
Z 2L 21l P AR )
bl i H—
G major D major A major E major

How many sharps does A major have? 3 How many sharps does E major have? {_‘I
What about D major? ) Do the sharps always appear in the same order? Yes

TR

A Sty

) . ey &

Sharps are ALWAYS written in the same order: o T

FCGD AEB. Here is the entire 'family’ of sharps: ST
bl KO- IR K- 0

Z 1L LT

bl "H. of

There is an easy way to remember this order. You just need a sentence where the
beginning of each word tells you the name of the sharp, for instance:

Eat Cat Goes Driving And Eats Bananas'
Try making up your own sentence here! (o to wublitzbooks.comau for some great “sentence” ideas!)

Fol cot Bananays.

60es Dfi\)i\mzuj And Eots

Apart from getting the order of sharps right, it's important to write them in exactly
the right position every time. Write these key signatures {uatch oot for cleE c’wangesni

Three New Flat Keys

There are three new major keys with flats in Grade 3.

O 1 O 1 H 1
P Amr ) AP U H
7 4 F 4 TV
[ & an N 17 [ & an WP J
=V ANA"4 <V
[y} ) e
31| I YO V-4 OO N
il AW bl CIWP “J 7 b
V4 l;} l{) l” 7 D }]I’
B flat major E flat major A flat major

How many flats does E flat major have? 3 How many flats in A flat major? l
What about B flat major? _2- Do the flats always appear in the same order? _Y€3

H 1
F 7 ]
o
Flats also are ALWAYS written in the same order: o Ly
BE A DG CF. Here is the entire 'family’ of flats:
)b
Z b [V 17
V1 by |
>

You might be thinking we need to make up another sentence for the order of flats.
Well guess what? We don't have to... it's the same as the order of the sharps, but

BACKWARDS! (How conenient)

We also need to get the positioning of the flats just right. Write these key signatures
{uatch oot Eor c]EE c'vang%!)i

g 7 9 ! T Q ¥ Ty i 9 5 i
= i Yy 7 il ¥ sy —7 i
(Y] [ (3}

B flat major A flat major E flat major B flat major A flat major

DID YOU FNOWL... The Btz Hey Jignature Table s the perfect aid

gor memor'ls'lng Lej s'lgnaiures!




Let's Write Scales

TOP T'IPS Eor SUPer'J Jcales

» Semitones in major scales fall between scale degrees 3-4 and 7-8

% Semitones in minor scales fall between scale degrees 2-3, 5-6 and 7-8

‘) Avoid marking 6-7 in minor scales - this is not a fone OR a semitone!

‘) Count up from the lowest note of the scale when marking tones or semitones
» Remember to raise the 7th note in minor scales

> Tick off each scale instruction after you have completed and checked it!

n

* % % *

Write an E major scale:

write the key signature

use semibreves {2y

write ohe octave going up

Write a D harmonic minor scale:

use accidentals

1\.‘1
f
)

use crotchets

write one octave going down

mark the tones

Write the major scale with the given key sighature:

use minims A L
A5 Po—  ——— — -

write one octave going up A 1 1 i =
() - 8 <

mark the semitones

Add a clef and any accidentals required to make this an A flat major scale.
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G Minor and C Minor

As we discussed on page 3, relative major and minor keys share the same key signature,
Look back at the key signatures on page 5, then complete these sentences:

& minor is the relative of B flat major,

C minor is the relative of E flat major,
therefore it has _ _flats.

therefore it has 6 flats.

y o s
- Write the laeg B
o~ 5lgna£0res ere .
'I'-hw ~Jy ¥

G minor C minor

Write the scale of G harmonic minor:

* write the key sighature
* use semibreves
* write two octaves going up (start below the staff)
* mark the semitones (hint: awid b-1!)

IQL v 'Aﬂ\ (e ] 9,-}14&5.?“,

a1y PPN e B

) =

V Esmr R

Good work! Writing € harmonic minor is just as easy, with one tiny exception... the 7th
note (B) is already a flat because of the key signature. We must use a NATURAL sign
to raise it!

Now try writing a € minor scale:

write the key signature
use crotchets

write two octaves going down

* % * »

raise the 7th with the correct accidental (fov yon't get such wiee reminders in the exam!)




Scale Practice it
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Scale Degree Names

- =

Y

1. Write the scale of 6 harmonic minor Many times we have referred to scale degree no.1 as the “tonic’ (e.g. tonic triads). This
) . is known as a 'technical’ scale degree name. Now it's time to learn the technical names
+* use accidentals - not the key signature for all the other scale degrees!
* use crotchets -
* write one octave going up and one octave going down
* mark the tones Scale Degree NUmLer Tec‘\nlcal Name Han(}cy Hlnt §0r Remem‘)erlng
* complete the scale with a double bar line . TONIC Vou diready know thi
ou already know this one
f) ' ! = { #. ._:H"_b'F_'/_-\_.’ ] !
émy ,i b £ {F D: | — ~— i ;: 2 SUPERTONIC ‘Super’ means above
) ~ T | T [ ——
3 MEDIANT Think 'Doh-Reh-Mediant’!
2. Write the major scale with the given key signature 'Sub’ means 'under’: no. 4 is
4 SUBDOMINANT )
* use minims under no. 5!
* wrife two octaves going down 5 DOMINANT You just need to know this one
* mark the semitones
Mediant is 3 above (1-2-3), so
6 SUBMEDIANT L o ( )
N ( . sub’ mediant is 3 below (1-7-6)
L o yo m—!  — e E— —
2577 e —c'+ =+ % ‘ 7 LEADING NOTE It leads’ to the tonic!
e %
3. Write the harmonic minor scale that starts on the given note
. . @ .
* add the key signature o ? Notice hou there 15 no number ‘&2 We talk about no. & uhen re)ferrlng
. . ; N c 5 T .
* write one octave going down and one octave going up \:\ to sca,es, ‘JUf no. 6 is rea”JJUSJL tl,e same as no. 1 —its ﬂ,e fOnlc!
* mark the semitones
*

complete the scale with double bar line The following notes are all from C major. Can you write the correct scale degree name

l — | , ; oy under each?

o 7 r ~ I I i N i T | PRl = |

F\ =T F K P o 1 1 | | H i | T T 1 -~ 3.

(Y [ | 2] =4 oy - e 1 1 1 1 1 I o Fo PO Z 1.4 1 1

~o Y 1 1T , Lo [ &) . X 1] 1 =y [#] A s !l 1]
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P4 I I
7 I © I f f — H
| & an Y I 1 | o~ 7 1l
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HERE'S A THOUGHT: IF you are asked to write a C minor scale using accidentals instead of a key

st b T sl o', sl s ot i ik i g0t oo dominst e i
9
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Writing Scale Degrees

v

In this part of the exam you are tested on two things:

1. Your knowledge of all the technical names for scale degrees

2. How well you know your key signatures!

For example:

N>

QT

& minor, mediant

First, you need to write the correct key signature (do this nou). Now, which scale degree is
the mediant? Number _3 __ So now you need to write the note which is scale degree
no._2 _ of G minor (4o this neu). Well done!

As you can see, if you know your stuff it's pretty easy. But here's a trickier question:

H .
P4 |74
{eyyyp—H5o——
AN hd o
e)
€ minor, leading note

Write the key signature and the correct scale degree. But... you're not finished yet.
Think: what is special about the leading note in a minor key? That's right! You'll to need
to raise this note with the correct accidental (hint: don L Eorget. it may need @ 5'\3rP 0R a natural).

Now write these key signatures and the named scale degrees (uatch ast for cIEf changes...

— 0 : o) 0 «
b 11 T3 N4 1t
(3] e (¥
A flat major A minor E major G minor E minor
submediant leading note tonic supertonic leading note
49 )] Y ) /-
AT o a3 A — fFe)ia—i 1 T
1YY Z E o] HE #an'W 4 1T 7
AV [w] NS4 © 11 mﬁwmﬁ
e) e) ®)
B flat major D major D minor A major € minor
dominant leading note subdominant mediant dominant

Tiny Test

- >

1. The following key signatures are all minor. Name the key and the scale degree: /10

0 u
At oy T A =
2= — G — =5 = D - 1
e (3] e
Key: G minor D minor C_minor A minor E minor
Name:Supt(tonic  mediank dominant cubmedinnt Subbdominant
\
2. And now do the same for these MAJOR key signatures! /ﬁ;

b
Key: P\ major D major F major E major £ major
Name:_donic Submediant \udur\ﬁ note suecr’conig dom(nant
3. Write the major scale with the key signature of four sharps A
+* use accidentals - not the key signature
* use crotchets
* write two octaves going down
* mark the tones
* complete the scale with a double bar line
o g
= A g A e T~ N -
= “ : — ] -
ANAT4 1 { I | p) 1]

) t T T I f-\! ——
’{fﬂh l\\ Fa”) I’li‘“]ﬂ P | I i I 1 fi I 1 | 1 7 Nt H \2AJT 11 |
[ & an . W0 1V Y e 1 | ] J) | | I I = 1 Z\ (e N_J I |
AN, (N L O M A I SO S 7T B o A=A T O B4 i |
DANARRI NI \

/30
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Intervals Let's Practise Intervals
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In Grade 3 we approach intervals in exactly the same way as we did for Grade 2. The 1. Write the following intervals above the given tonic notes.
rules are the same, there are just more keys to learn! Let's do some quick revision:
f [Z=3 A rlw)
. yd e Ay oy O )
* Unisons, 4ths, 5ths and 8ves are PERFECT _@_t"n ”%n o Hl\;)yr\ () Tz N 7 A
*
2nds and 7ths are MATOR major 2nd perfect 8ve major 6th major 7th minor 3rd
* 3rds and 6ths are either MATJOR or MINOR
The bottom note is always the tonic, and the top note comes from the major or minor 2. Name the following intervals by number and quality.
scale on that tonic. Just like Grade 2, there's only one way to blitz your intervals.., L 9 A
D = eYy: : ra - P 4 I 4 |
LEARN YOUR KEY SIGNATURES! 2o b —i7 o i f)s roo
Fo

minoc 6™ maer 27 perfeck 5* mayer 2 per{cd
HOT TIP: 3rds and bths will a'uajs be major 'l)f the tonic is f: bg'af, Eﬂat, or ﬁg'af. That's because e v unison

M OnLY 5£qu maJor Lejs on ﬂsoae notea!

3. Add accidentals where necessary to the top notes of these intervals. (Warning: some og
thern may nol need any at alll)

Name these intervals. Remember that the bottom note is the tonicl

-

9 ra C— I — A C—— T © il

y 4 ¥ O 17/ S ] H il O] 20% IV 2% 1

o (o) o Z "o ey 7 ey Ty 1|

—_— n P n h ] 174 I TV 11

a0 IS ] e 3" = 1Y (] 1P 4 1 1T L] | [y} (Y] LY
il I 74D 11 hed¥ IO = ™ e [ % ] [ A T 1 af 1
Z T2 1 4 1 £ an) v = HEAN 7N S ] 1
1] 1= 1 ANS"4 [TANEY.A 11 A . . .
Y ) major 3rd perfect 4th major 2nd major 6th minor 6th

: o : ; cck . h An
major 3 e T winor 3 maoc b erfeck 5%

Write these intervals above the given tonic notes. Don't forget that ‘perfect’ intervals 4. Write these intervals above the given notes using leger lines.

often need accidentals - especially if the bottom note is BI’, EL or AL! b e
he pe N ¥g h b =
[ L Ll l]' » [ ) I’ 4 T II- 3 = 1}
B A A ve 7 7 s ey =7 —
rat < I 4 TeSs - TZSs f — 1= I1AND" IANG"4 11 1l
y O A ey "L ow) I 1 Blll 1 IFL® ] T ) o)
~ e ——— | Ei—" ' D 7 = i
Y Ho D= perfect 5th minor 6th major 3rd perfect 4th major 7th
major 3rd perfect 4th perfect 5th minor 6th perfect Bve
. 5. Write a major 2nd above these tonic notes.
A ,bﬂ- A fo
@" T~ A — A —b4s i o) o—1 b,
L & I Fan IR £ an v w4 [ ] I 4 'BQ
5, O] o e — f;'f‘ APy ey i ———
5% P =~ L A\ ——
. . () — o
major 2nd perfect 5th perfect 4th major 6th major 7th © b-os- ¢
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Timed Test Tie:

Time yourself doing this quiz. Do it as fast as you can, then record your finishing time
above, But,.. guess what? Your teacher will ADD ON 10 SECONDS for every mistake
you make! Tt's fun to go fast, but more important to be accurate. Start the clockl!

-

b . .
1. Name two keys with this key signature: % E rvmjof and __C minor

. e
2. Name this scale: {gy— P bo P C minor
= T A B
3. Mark the semitones in the scale above.
H 1 .
F 1 J
. : , . : 5
4. Write the mediant note of this major key -ﬁrrP—b—"—by
5. How many semiquavers are there in a dotted crotchet? 6
2
bo )
F—=— . W2
6. Name this interval: Minor Gth )
__&.%

fo

7. Write a major 7th above this note: %

8. What is the technical name of scale degree no.6? submediant

9. Name this minor key and scale degree: ﬁ G MINOC, {QQA(,\S y\oWLL

STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP!

After marking this with your teacher, tick one of the following:

[ 1T made no mistakes! [
Leep My time OE '

[ 1T made  mistakes.

Mg new time s

Triads

"

T
-

Up until now we have only dealt with the tonic triad, also known as chord I. If we build
a triad on scale degree no. 4, it is the subdominant triad (chord IV), and a triad on
no. 5 is - you guessed it - the dominant triad (chord V). Let's look at C major triads:

/! _ _
v & -
Tonic (I) Subdominant (IV) Dominant (V)

The chords on the tonic (I), subdominant (IV) and dominant (V) are known as the three
PRIMARY triads. (Notice ve a]uags use Roman nupmerals when rEEerr'lng to chords)

: DID YOU KNOW... Al OE these chords are Tn ‘root Pos'lfion‘. This means that the
bottom note s the ‘oot og the chord.

When you write chords, you may go up or down to chords IV and V, e.g:

0 [® ] I o T [® ) ] )= [ ] T T I
F—H e
I I 1 HI [®] 11 a4 I

8 8

Write the three primary triads in the following major keys, then write the name and
number of each chord underneath.

f) | 0
w7 1T [#] T oo |
e Q i 3 f =S H
\Q_)V 5 11 IT B}
Tonic (T) Subdominent (1) Dostingnt ( \/)
r Y 1 Py 1 |
F—=s j 8 i =
(%]
Tonic (1) Subdominent (1v)  _Dominand ( V)
s H
o LTl [ ) 1T 1T |
i B 1 = i = —
\OV i1 8 1T 5 1]

Subdominant (IV) Dominent (V)

15
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Naming Triads

In this question you may be asked to identify the key of a triad, or the chord number,
or both! Always look at the 'root' of the chord (the bottom note) to figure out the key
and chord number. For example:

nfls IREJ a'lsnatwe cou“ /$#—
Le () maJor or E minor 5.)5; § \_/:

In G major, the note E is scale degree no. 6, so this would be chord VI.

The bottom note s £,

In E minor, the note E is scale degree no. 1, so this would be chord I.

Which answer is correct? Remember, in Grade 3 you are only tested on PRIMARY
triads, so your answer must end up as I, IV, or V...

~,

So the triad above is chord I in__ £ sinol

Name these key signatures and triads as I, IV or V.

P f) 4 . H
o%°. | Il ) =4 i & P Ty o T 1 [F Ty |
',- ] b 6 e ' E ',.#t =¥ g P "- !;
v 1z ITANDYA ~ 11 hil [ @] A Y Q 11 [ ] 11
o) e) =
b ) . . .
Key: A majoc ( Major D majoc (z_winol A minor
Triad: |V { Vv 14 |

Sometimes triads are written without key signatures, but when this happens you are
always told the chord number (leeu.'). You need to look at two things: the accidentals and
the bottom note of the triad. Name the key of this subdominant triad:

/_\l')o
Ayt

V4
X

These agcidentals could be grom
bg]at maJor or 6 minor

[t's chord TV, s0 the bottom

note Is scale Jegree no 4

. b
So this is the subdominant triad in the key of _B Mo\u}lof

Now name the key of this dominant triad (hint: the ansuer could be major OR minor — gou'“ be carrect, either

vay! More abost this on pages 18-19): )
g:{ﬂ}: Key:

ey

D Minor

First Inversion

S =

First inversion triads have the root ‘flipped up' one octave.

) )
Y P4
y—a B&H5—m—

Now the root og the chord s on toP!
This s called ‘first Tnversion

P
The root of the chord is on the

LOHOm, s0 this is ‘oot Position)

Label these triads 'R’ for root position or number ‘1’ for first inversion.

__I [ &) oS 1 7 £ 1Y anY HI 4 1
II\.)\I b_ij_ 1T 5 II\USI 11 11
| [ R
e |

Rewrite the following root position triads as first inversion triads, including the
accidentals. Always 'flip' the chord by moving the bottom note up one octave. (Jon't be
temyieJ te (E]ip‘ it the other v fo ayoid feger lines!)

L
O o) < v o ho
= 5
[ i an L) 24 | 124 I il & ] 1 il 1T 1 11 Lihrd 1 [}
A4 -~ I 1T I 1T | 11 1 11}
)

To hame a first inversion triad, remember that the root is on the TOP, and look very
carefully at the accidentals. Name the key of this dominant triad (chord V):

This note is the roof, and we //f)_\l‘

P 1 LY 1|

The accidentals tell vs it most
be a Leg with ﬂats

know 1 is scale Jegr% n0.5 o

So this is the dominant triad in the key of b Ma107

Name the key of these subdominant triads:

) o ) | -
P %] P4 LS ] 6‘\- [ % ] [IF“a X0 [ )]
{es o oy —>-9§ 7 £9 =7 i I
ANDY.4 AN = = Py 1T ]
e/ [
Key: ajor Key: Bb Mg'l ol Key: _D minor Key: _(x waiol
J 17
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Chord V in Minor Keys

Chord V contains the leading note, and - as you know - in minor keys the leading note
needs to be raised. Let's look at the dominant chords of & minor and € minor:

fH 1

These [eaJing notes need Lo be raised H
ﬁ/ vith a s'warp (JO this now) > 4
.____________/
0 | n\ese ieaJ'mS notes neeJ {e Le raiseJ 0 ()
W vith a nateral (do ths now) ,i,

NS
[} e

9 DID YOU FNOW.... Tn root POsitiOn, the leaJing note Ts the middle note og chord U, bot in Elrst
mersion, the leading note Ts on the BOTTON of chord V!

The following are all dominant triads in minor keys. Find the leading note in each chord
and raise it with the correct accidental:

O
. ey ) f)
531 [® ] I s = I o ] Hes I AN P’ A
bl LNV —E T= Ye &  HEy = ¥e 1 17 P H @ ¥ 4 =
Z bl 1202 4 & - HeS H 2L b BT an M <y [ Fan) A&y
- v L” Bl 11 = 1 L 1AV NV 1(5
1 (] o ()

Werite the following dominant triads with key signatures in root position (remenber to raise the

leaJing note in minor 'aegs On]j)i

A minor
dominant (V)

A flat major
dominant (V)

F major
dominant (V)

& minor
dominant (V)

D major
dominant (V)

And now write these dominant triads in first inversion with key signatures:

A 1 Fan
JUH 1 v v = 11 A I + 1 [@] I
Fi 7 K ) 1 | Y y AW (&) 18l £¥: 3 il CYE ') =y 1
[ & an YR b7 IE FanVd Fe] [ X anYd [#) 17 9 Vi b‘ hé
AN fw ) | BN oY AN 11
) e o 58 ry) fis 7
E major D minor B flat major E minor € minor

dominant (V) dominant (V) dominant (V) dominant (V) dominant (V)

Terrific Triads

-y -

1. Write the following triads using key signatures

f) Lo A#\' - 0
s e 2 =) ey == A & i
1Y [ 1.4 1l FanY o |
VYV hd (4] 1T 11N al 11
[Y) o) A=
A flat major E minor A major

Dominant (V)
Root position

Dominant (V)
First inversion

Subdominant (IV)
First inversion

REMEMBER: You only have to raise the leading note in chord V in MINOR keys!

2. When writing triads, we must take special care with: {circle correct ansuer)

A, Chord Vin all keys
@ Chord V in minor keys only
C. Chords I, IV and V in minor keys

3. Name these triads as I, IV or V of their key, and state whether they are in root
position or first inversion.

- o)
| P
1 M [ }-‘5 eyt [ ) T e ] 1§}
v Y [TANIY 4 11 bl = Il\ijl i

Key _ A mﬂs oY Key ot MO;\JOV Key _D mo\gof Key O minor
Triad i Triad \ Triad N Triad \
Position Koot Position FirsX iy Position First iny.  Position _Root

HERE'S A THOUGHT.... When chord Vs written with accidentals instead OE a l&ej signature, s

]NPOM'IHE o tell ubhether it's Erom the maJOr or minor Lej Your ansuer will be correct either uaj!

4. Name the key of these dominant triads:

E mo\:\Jov

% . ) —83—1
ANLYS i E W £
(3

19



-
-

Name this scale.

Revision of Stuff

=

e
9

D

[ @]

S

N

d

A major
J

. Write the key signature of E major in each of the bars below {uatch it Eor
clef c’\anges). Then write the following:

Qﬁ 4 " ()4
Fald ) +1 = 1L FurH ]
- W tiH hd 1T W |
[ f an WAL 17 . W = ey T ) |
o IT n L= TS b= il
[)) [} e
submediant note dominant triad major 3rd (drau the [Eirst!)
3. Add a clef and accidentals to make this a C harmonic minor scale. /5
PNl T
&y 7~
Fi [ @ ] | PPN 1 ] P [® ]
= I.I“-’ 74 % ) © Py PCY ‘1‘-’

e o

-

S

(&)

4. In the scale above, mark with a slur any intervals larger than a tone.

5. Write the key signature of C minor, then write the three primary triads in

root position. Write the name and number of each chord (e.g. Tonic, I).

/N - o — "
F AW TN Tk 1 (o] T T FY 1
o L2 B e —F8 ]
G, 3%

Tonice (1) Subdomingnt (\W) Dominant (V)

6. Name each of these MATJOR keys:

/5

H e 0 u
L ”5\: 1 (] [|€\: T & & 1]
NV IR 4 | Lz ) | NS i)
B mayer F E C &

20
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7. Write the mediant note for each key signature in question 6. /5
8. Write the scale of A flat major: y
8
* use accidentals
* use minims
* write two octaves going up
* mark each semitone with a slur
* complete the scale with a double bar line
I~
0 P B o b-
o 1 ] 1 I h DT [} 7
A : N i 1 I — = pP— I il
. an) 4 ] [| 1 1 1 = G973 Vi I 1 || I
\!_)V T | _el_ ‘DCD' bd 3 hed 7 II | M I |
be v 2
9. Name two keys that share this key signature. A
o 7 . .
- t._G Mat}w/ 2, E minor
10. Write these intervals above the given tonic notes, /5

0 7"

P 4 ! W 11 X =N T— . ~ I 4 I
¥ 4 P A 1= Je L ¥4 1 4N 1 TN bl I 1Y AW e |
[ £ anY 1 Z 1 JIEfan ) v = Z I K an] Vs 1
ANEY.4 > 11 7y || ANR%4 [ @] IR ol 1l
e) = [ e®)

major 7th major 6th perfect 4th major 3rd minor 3rd

11. What name would have appeared on Darth Vader's birth certificate?

(this is not hl\elj o be {EsieJ In t‘\e exam) Anni LI/\ Sk_tjwmlk.ef

12. Name the key of each of these fonic triads:

b}

[ % ]

C}.
L

& minor

i

A

/4

Total:

O | b
N4 11 A Ma"of
[y N
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Choir Music: 4-Part Vocal Style

In a choir there are 4 types of voices:

The highest voice is called SOPRANO
The second highest voice is called ALTO

} < These are usua“J JrP.malE voices

The second lowest voice is called TENOR

} e ”\ese are uwaHJ maie voices

The lowest voice is called BASS

o)

P . -« «
% Soprano and Alto voices are always written in the treble clef
D))
- Tenor and Bass voices are always written in the bass clef

4-Part Vocal Style is also known as SATB style - for Soprano, Alto, Tenor and Bass.

When writing music in 4-part vocal style (SATB), each voice is given a different note of
a chord to sing. Now here's a thought - there are only 3 notes in a chord, but there are
4 voices, Where does the 4th note come from? The answer is:

DOUBLE THE ROOTII
D.S. The root is the note the chord is built on.

For example, the notes in a € major chord are C, E and 6. We need an extra note, so
we'll double the C. Here are six different versions in 4-part vocal style:

[ @) (@]
y 4l Ty Ty [ ] <y
| Fan ) < = P =
AT = — = €Y <
ryj © LS 2
-
= ———
O :8: = _— —
3= [® ]
I'. [® ) <y [® ] [ ) [ )

Which note does the bass sing every time? (- This is a very important rule:
THE BASS ALWAYS SINGS THE ROOT!

The other notes are allocated to the other voices in any order.

22

Vocal Ranges and Spacing

-

-

Before you start to write your own chords in 4-part vocal style, it is important to know
how high and low each voice can sing. Here are the ranges of each voice:

) )
Soprane % = Ao % S
(3} o [ —
e
o
J— -
TEnOr i Lo basa e
O

Sing some melodies with your teacher. Which 'voice’ are you?

DID YOU KNOW Eac‘s voice ‘vas arange O)f 12 notes, or an octave Pltls a E‘lgﬂv. IE Jou Memorise
the lowest note EOr each voice, it's eas| to work oot the Ligkeat note!

When you write chords for choirs, it's very important to know how to space the notes.
The rules for spacing are:
* Soprano must not be more than one octave away from Alto

*  Alto must not be more than one octave away from Tenor
(this can be tr'lcl\j to spot since these tuo volces are written on J‘igeteni c]eEs)

* Tenor and Bass can be as far apart as they like!
(Bt tl\ej mist stay within vocal ranga!)

* Tenor may not sing higher than alto and alto may not sing lower than
tenor in any one chord (i.e. these voices may not ‘cross’)

Check out these chords for choirs. Spot the mistakes in spacing or voice-crossing!

fa) o)
A — 8 (@) (@) :
 Fan) 7 7 Py <
AR f . /r-'-\O P o o
[ ) . =

\ . - .

© 1 -©- * - —
Y (@)
—J [® ]
7 T3 T3 (@] (@) (& ]
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Chords for Choirs

=
=

Let's divide chord T of D major between the four voices. We'll use semibreves.

[ _ What are the notes in chord I of D major? 0 _F and A
¥ A 1 h=d
i o3 Which note will be doubled? D _ (Hini: aliays dosble the root).
I . Now write these letter names above the bar so you can cross
LN 2178 =
7 i S the notes off as you use them.

Which note will the bass voice sing? 0 (Hint: bass aluajs sings the root)
Now you can wrife this chord in 4-part vocal stylel

m»ecu'lsfi [V] Bass is singing the root of the chord
B/ Soprano and alto are no more than one octave apart
[E/ Alto and tenor are no more than one octave apart
[ All voices are within their vocal range

l]/ Tenor and alto are not overlapping

Good work! Now there's just one more thing you need to know - the rules for stems.
Simply remember this: UP-DOWN-UP DOWN.

0
yan
The stems go in opposite directions in each stave. %,‘ iZ
This way they don't crash into each other!
) =
< i

Now let's write chord IV of & major, this time in MINIMS.

A u What are the hotes in chord IV of 6 major? _ C E and G
’{ F-]
'9 ‘,.._ Which note will be doubled? _C; (Hint: aluags dosble the root).
.el. Write these letter names above the bar, then write the chord.
O
7-* ? Add stems to the notes - soprano first (UP), then alto

(DOWN), then tenor (UP), then bass (DOWN). Great workl

24 Then use the list above to check your work.



HOT TIP: Onﬁ uay ﬁo ensure 3004 spacing OE Jour chords s to keeP the ’Lennr part quite ng‘\ nws uay s
M eayy fo keep the alto part within an octave of the {enor!

Now you can write your own combinations of the following chords in 4-part vocal style.
Write the key signature, and add stems to make all the notes minims.

r (4 /;? by , r )y
B aitmic 1P % i
[ an YLAS | Fan VAN o) [ fan L
NV ) NV pa) NV
0y, 0y o 5- o P
R is BR/E B L —
Z 1L Z HKYh VvV y.4 =Y
b 7 1h [o] ~
N N M [ N\ |
A major A flat major E minor
Chord IV Chord T Chord V (be careful!
7 () I y AIWE)
Y- y ,,
[ Fan) ) [ Fan) ~ | O o YR ~
AND"4 = ANB"4 Fa) ANI"4 )
e A Y, [" [Y) A
| ]
_‘\': ) —q: ‘-H'D m;.ﬁu
7 4 7 1
N N N
C major A minor E major
Chord V Chord V Chord I
)
Did you know, it's actually possible to have tenor and —r{? (o)
bass singing the same note! To show this in semibreves, ¢ ©
write the notes side by side, like the 'unison’ interval: o) 5
.4
N
” ()
To show two voices on the same note in minims —'é,"‘ z
or crotchets, simply put two stems on the same © P
note, one up and one down, like this: 4):
N

Go to www.blitzbooks.com.au and download some free ‘cadence style’
manuscript paper. Write chords I, IV and V in D, 6 and A major AND minor!




The Perfect Cadence

Play through some pieces on your instrument. You will notice that most of the time, the

last two notes or bars are based on chords V and I. This is called a Perfect Cadence.

i Per)tect (adence is made Up Og chords U=I. Chord | aluajs goes E'lrst!

26

Here is a perfect cadence in 6 major written in 4-part vocal style:

0

P A

F 4 o>
[ M aw [® ]

N [ % ] b=
)

£ L)
=4

¥
oy

o]

nﬁnga to Notice M !
Ato

Which voice is singing the tonic in chord I? Alto

Which voice is singing the leading note in chord V?

(apart from the Bass)

Which voice is singing the same notes in both bars/chords? T@Y\D(
Which voice is singing the root of the chord in both bars/chords? _ S S
What key is the above Perfect Cadence in? G W\O\;\IO(

This D minor cadence is voiced differently. B
Which voice is singing 'Leading note to e ~ o
Tonic'? JENOY__ Which voice has the (5> — —
‘Note in Common'? P\\\Q ©

Which voice is singing the root of the L o B z_
chords? %0\‘55 — (\: I

,o' «“ HOT TIP: PErEEct cadences in minor kegs need s?ecna] attention. Jou'll neeJ to Elmf the leaéing
note (uhich 1 aluays in chord V) and raise i with a sharp or a natural sign!

So, perfect cadences should always be structured in a certain way. Here's an example
of how to complete one in F major:

BEGC RACF SERGC RA CE
In| 9] [ % ] <
,(nb' (\myb‘
() )
-'i—; ¥ © -I':Lv‘ () ©

1. The Bass voice sings the root

notes - always write these in first Tonic’ - sounds good in any voice

2. One voice sings the 'Leading Note to

A CEGE RABK A BE&E RABR
T T3 © 7 Ty ©
{7s> s> = o)
x oV e
)] [Y)
- - - -
-l'i-; y © ';':p; 3 ©

3, One voice sings the 'Note in Common’

- sounds nicest in alto or tenor notes are left!

Let's write a perfect cadence in E minor on the staff below. Write the key signature,
and write the letter names above each bar so that you can cross them off as you go.

O s

1. Bass sings the root ‘ v
O o &

2. Leading note to tonic (raise the ]eaJing note) ()

3. Note in common ‘ o o

4. Whatever's left! )'l = -

Great work! Now write perfect cadences in these keys. Write the key sighature:

4. The remaining voice sings whichever

=
& & Hrr——-o e
(Y [,
o - ©
R I v D r——
VA F [ab]
= _,Lv_Le
A major ¢ minor (be carelul!)
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Perfecting Perfect Cadences

-

1. Worite perfect cadences in these keys using minims. Write the key signature,

The Plagal Cadence

The plagal cadence is a different chord progression often used for endings of church
music (it’s the ‘A-MEN' bit). The plagal cadence consists of chords IV-I.

4 | | 0 4 | [
o gy H e | [ & 7 ey e
ot - = (b T 5 .
P Fo] P Y (o] P Here are some plagal cadences in 4-part vocal style:
d J 4 d 0 s by
4 OO | hd £2 o | P PR L% ] [® ) F 17
S t— o LS B = ] —g = it o R = b— 8
L1 =4 1 14 1 AN v =~ [ ] S ~ S - 7
l ' l ¢ 3, 5
E major G minor — — - o = o
F X1 [ & ] &3 = 1 = F4 T [ & )
il = hal¥ X - ZVNIR 4 L ® ] ¥y 17
2 I’I) = Z % I2] Z b [ % )
2. Complete these perfect cadences and name the key. v I v I v 1
A 9 1 . i 7 9 ﬂu# t }
&>t g A o = 77 The main thing to notice here is:
.A_ A THERE IS NO LEADING NOTEM (This is becase ue are sing chord IV not chord )
. | |
él‘,:L%,[ - é,‘,:f;w]‘:'- F& e, So 'Leading note to Tonic’ will not be part of our plan for writing plagal cadences, but
7 F f N ; ’" the rest is pretty similar. Here's one in 6 major:
Key: C minor Key:__ A Mcjof
BEGC WBDG SEGC BBDY
) 4 f) 4
) y aimis i
3. In the following cadences, the rules of moving by step have not been followed. The D L {an) o o
dotted lines show consecutive Bths and 8ves (also called parallel 5ths/8ves), which ¢ ©
are BANNED in Grade 3 Theory! Can you re-write these cadences correctly? e - E —
Z [ ] VA [ & ]

ol

[ s | | |
I 7 | =
o 2 {ry? 7 - 1. The Bass voice sings the root 2, One voice sings the 'Note in
S [ -, =
Y f | B () f‘ [ & . notes - always write these in first Common’ - sounds good in any voice
; ve : i5¢
i8ve ;511-, ._‘.‘
- i 5‘rh:"é;’: : |/ Jfﬁ'
IR FZ b = 8
m— | 7 P = SEGE ER DY BEEE SRRG
N | N ~ | {4 {) 4
f’ 7= > i Ty P=y
.1 0 (I = H__ o o
7 "'ut P 1 T p 4 .117 } lI ¢ e
¥ 4 | { VAN Y { =
[ £an) 1] O | & an W' [ &) =
ANR"4 > ~ - ©
) f? [J) 19— rJ — Q oy Q
n‘ O{ | [ 7 [§) 7 (@)
- & yo) o S r=|
T I e © .
28 N ] " r) | 3. The remaining two voices must step DOWN.
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HOT TIP I:  The leading note does not appear in plagal caJences, 50 Jou don't need to worr| about ncludin

W g pp ptag g
@ ,"s, (%
HOT TIP II: Sometimes the question does not tell Jou ubich r‘vjf‘vmic valie to use uhen uriting cadences. [n
M ths case it's uwa“g easiest to urite n semibreves — no stems to worry about!

accidentals Tn minor kejs = PLEM!)

Write these two plagal cadences with key signatures. Remember the three steps:

1. Bass sings the root of the chords
2. Note in common

3. Remaining two voices step down

O 4 0
o Hat = o = o
g AL b4 [ &) 7 K w7 A
H=- [ FanYd oy
— 3 rY AN b4 et}
DY) [))
Ll Fat £ [#] Fa
“ i TL = md . el
bl LN TR = bl LI oy
A . " T 2 K hed
LAl 0 74 oY
A\
A major D minor

Now let's revise plagal AND perfect cadences. Write the key signature and use minims:

, which means this is a

t’::'
k-

N>
el
C@;’kb

L
Py
o]+

4
Ny

TTed—on Ll
1

T8 o~ ORL

N
N
<

k1

P
T oe—" 001

E flat major
plagal cadence

A minor
perfect cadence

T

Go to www.blitzbooks.com.au and download some free ‘cadence style’
e———= manuscript paper. Then write perfect and plagal cadences in E, C and & major
SEEREY . ) . |
AND minor! (That's 12 cadences in total — have EU"')

Perfect or Plagal?

-y o

It is important to be able to tell whether a cadence is perfect (V-I) or plagal (IV-I).
The last chord is always chord I, which tells us the key. If we know the key, we can
work out whether the first chord is chord IV or chord V - easy!

| [
Hej signature tells '\E)yn [5; |E The bass note is D
us i is either bg]at 4 A_ glai, and ue knou
major or 0 rvinor > If_, this s chord [!

&
~_____—
The key of the cadence is B flat major. We know this because it ends on chord L.

Now focus on the bass note of the FIRST chord.. is it scale degree number 5 or 4 of
that key? This will tell you whether it's chord V or chord IVI That's right, it's chord
cadence, Well done!

Name the following keys and name the cadences as Perfect or Plagal.

/ Q ﬂ ! / P A Il) L >
F 4 ﬂ ZL Hh |V - [ % ]
| FanY o 1r
Av4 1 = o [ ) %
[y, [ [ [Y) h
o XX F Y ) © ©
il L) fa”] y 17 b =
4 | Z b |V ~—
fo”) | L 7 J [ ]
C | I N
. ) Ala -
Key: E _minos Key: Mc:} or

Cadence: Plag al Cadence:___Pla 9 a

o AT J
 Fan Ria PLe ) a8 s wm 7z 7z
D) L o i |
roa ! )

Y—— FE =
% . T

N ~ N = F ]

Key: __ G minor Key: __ D ngiof

Cadence: FQ((é(:* Cadence: Pef{i(i
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Pianoforte Style

‘Pianoforte style' cadences have 3 notes in the treble and a single note in the bass.
Think of this style as 'chords for pianists' rather than ‘chords for choirs't

°>

One stem _Eor ) notes in the 'C”D = z One nofe in the bass.
treble. The middle note decides ¢ - The normal rules EOr
the direction °E the stem %) 2 i stem direction BPP]J

N —

Rules Eor PlanOEOrte Stﬂe

Werite 3 notes in the treble and one note in the bass (see ahowe Eor roles for stemns)

The bass notes must be the root of the chords.

The leading note (L.N.) must go to the tonic. (In the cadence above, the L.N. is the
top of chord V and the tonic is the fop of chord I. They are in the same 'voice'.)
The note in common must also be in the same 'voice'. (In the cadence above, the
note in common is the middle note of each chord.)

The 3 notes in the treble must be within one octave,

The cool thing is you don't have to worry about vocal ranges!

Write the following cadences in pianoforte style using minims.

0Oy { O4d ]
P A, v) ] i ¥ I
F AN Y £ Y A\ ﬁ
'ga'/ a [ fan)
b 7 u E
v [y ¥
.
6y ! ] ey # 1
T e 7 ) { il £ . A F'p)
h 1 =1 yd = ol
A"d 1 e A 1
T T

B flat major, plagal cadence E minor, perfect cadence
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[MPORTANT NOTLCE!

f-rom 2009 OnuarJS, P'lanogofte stjle u'l” not Le tesfed in Graée 3 or q H\eorj exams, Onlj q‘Part voca' stjle.

Houever, ?ianOEOrfe stjle is still on the Gral}e B sj”a‘ws.' T'\eregore is .lnCIUJeJ in some OE the exercises.

Cadence Practice

L
-

2
-

1. Write the following cadences using minims. Write the key signature first,

Ol ! Dot | .'
y <l { y o Fa 2
| § a0 Wk " g [ B
AN # ANE " PN oY
LY w o [ r’ r
| t r ! o
e © | f OO PV
i 4 t & A i

| e - =

& minor, perfect cadence E major, plagal cadence

pianoforte style four-part vocal style

Check list:

[V Notes spaced correctly in each style
@ L.N. to tonic in same voice or same part of chord (PerEEct cadences Onlg)

(A" No leaps except for the bass part - all parts move by step.

2. Write a plagal cadence in A minor, first in vocal style then in pianoforte stylel

y 4 P=Y A

— 2 e E

[ & 2w [ &)
SV fa] P A" Far] =Y
.) e Q) 7
P

.

7 = 7 174

Fa )

Piano music aluajs has the cryy bracket and choir music aluajs has the straig‘vf bracket. Inferesf'lng, hibh?

DID YOU NOTTCE... the ‘brackets' connecting treble and bass c,efs are J'lEEErenf Eor the tuo Jiﬁerent sfjles?

3. Name the key of each of these cadences and name them as either perfect or plagal.

O fHutt | |
F 7 o =Lt 1 T
F AWEY > y A i = [
Iy 1Y % ) p-=-4 | F an WL
A4 hIES ] -~ S For) —
o) e ) [® ) o) | [l
y Ty o YO Y (’I FJ
757 © O dia = !

% 1 % T
Key: __G_eninor Key: A Mmool
Cadence: P((fld Cadence: 'plaja{
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Short Test on Stuff

1. Whrite the following triads with key signatures.

Az

o o)
o) 1P 4 o5 T 0 oY & | 1]
)= T ey Sl ity ¥ For) [§
1.7 | =4 | A . H
AN 4 ITA [ 11 V had T vV bt 1]
.) ~
G minor C minor F major E flat major
subdominant (IV) dominant (V) subdominant (IV) tonic (I)

root position first inversion root position

2. Name the key of each of these subdominant triads.

first inversion

/s

o 0
e = i ey i A ——o —
Z—p3— 7 e i {oy——=3—
743 11
o [))
E Mabiof C minol A sminol

3. Write these cadences in four-part vocal style. Write the key signatures and

use crotchets.

Ao

Thje— "8 N

TS — T W
T —

D minor E major

perfect cadence plagal cadence

4. Write these intervals using accidentals where needed: A
J l“— f) t =)
it = AL © HA—2ACT He): o) — =
D o 1Y, Hp——— =~ s =~ —
[3) [ [ =
perfect 5th major 7th perfect 4th minor 6th major 2nd
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” Total:

Talls Beams and Do1's

QU'C!K reyision OE QnJ 5@46 st)EE

Quaver notes and rests have one tail ( J’) or ohe hook ( i ) and they are worth half «
crotchet beat,

Semiquaver hotes and rests have two tails ( ﬁ) or two hooks ( ‘7) and are worth one
quarter of a crotchet beat.

Quavers are grouped by one beam (ﬂ) - they are worth half a crotchet beat each.

Semiquavers are grouped by fwo beams (j) - they are worth one quarter each.

e Grade 3 Suff:

Sometimes we get a mixture of beams! For instance: m
How many notes have one beam? | How many notes have two beams? )
So this needs some fancy maths: 3+ £ + £ = |

How abeut this one: ﬂ] Answer: |

In grade 3 we also get more complicated dotted rhythms. A dot makes a note or rest
longer. The dot equals half the value of the note or rest.

D= % e

Dotted quavers are ALWAYS followed by a semiquaver, e.g. J’ ﬁ or ob ¥ or ﬁ

_b @) T Bl (4ed)

o, =

HOT TIP: il . bos exetly the same valie 35 o o = it's worth ane cratchet bea

Add the correct time signature to these rhythms:

2 | ¥

ﬁ P — D 5 o o 5, - ” — & g e - P - [>]

L [ A S 4 | ol el o

|1 | )| 1 T Fi T | 7 7] 1] 1 7 7] I I | 1 i
=_ r = | 4 r [— 4

L

-
~
5
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Introducing % and %

In % and 3 we have a ‘2’ for the bottom number. This means that the beats are
MINIM beats. The minim beats are not dotted, so these are SIMPLE time signatures.
2

5 means two minim beats per bar, simple duple. % can also be written as . This is
known as ‘Cut Common’ time.

% means three minim beats per bar, simple triple.

In % (¢) and 3, quavers are grouped in fours, to show the minim beats, like this:

- s 1 I T T 1 I T T 1 1|
Y] 1 ] 1 1 1 ] 1 1 1

B e e e e e e e

L] I T T | T Y Y ] T r Y | 1]
[ ) 1 ] 1 [ 1 I ] 1 1 1 | | A

HOT TIP: % and % look very similar as t‘vej both contain U crotehet beats. The grouping °)C quavers can be
i"|°"|"‘” Jour L'lg cloe uhen trfing to tell the Jiﬂemnce betueen then!

Add the correct time sighatures to these bars. (Waming: Do nol write 2 a four ansier! Yoo pust urite %)

3 3
= p—— p— T T =~ - — m—
e T T T "1 1 1 T 11 ») | I ay
R m— 2 T A —
& ]

|
E

i
i
o -

Completing the bar can be tricky in 3 and 3. Let's complete this bar with rests:

1. Always follow ﬁ with 7 no matter what the

time signhature!

2. Add 7 to make it up to a crotchet beat

3. Next add 3 to complete the first minim beat

4. Fill the rest of the bar with two minim rests!

Hanéj Hints )fOr com?leting the bar in 3 and 3:

* FIRST make semiquaver beats up to quaver beats, e.g. follow ﬁ with 7
* THEN make quaver beats up to crotchet beats, e.g. follow ) with 7

* THEN make crotchet beats up to minim beats, e.g. follow J with 3

* In % you may need fwo minim rests in a row fo complete the bar. Don't be tempted
to use ™ instead - you may not group two minim rests together!

Complete the following bars using rests.

| L> N = T

e ——= e f
7 i - m— i

Ty T )| I |
s B ) | :iE ] = — |

1 —7 )| [ 1 u|

R ] 1 = | r o M Il

l ! l

Il

V ¥ B NN S ] 1 1
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Introducing %

g means three QUAVER beats per bar, simple triple.

It's just like 3 but with quavers instead of crotchets!

. J
.b ) J’ = simple triple

Jee? These beats are not dotded! That's u'wj 2 15 a SIMPLE time signature,

3 crotchets per bar

simple triple

13

3 quavers per bar =

wle  &~W
"

It is also very common to see all the quavers grouped together like this: m
This is quite OK... % is the only 'simple’ time signature where a group of 3 quavers is
allowed!

The beats for % are just the same as 3 : Strong, weak, weak: gjj
ww

Just like any other time signature, you can't group notes or rests over two weak beats:
> TTo Xg§gh ¢
>3 2R A

Semiquavers are very common in %. Make sure you always follow ﬁ with 7 or ﬁ!

W oW

X
v

Complete the following bars with rests:

I L3 ] 3\ |

o =4 1 [ ] 13 LT 4 | 4 1]

eSS = i o1 +—
Complete this bar with semiquavers: :&zt:iﬁﬂ
. DL 3 { —
Write one note that would fill this bar: > E— — y

g is just like 2

e oy
- -

g has 9 quaver pulses per bar, and the pulses are grouped into threes. So g means

'three dotted crotchets per bar, compound triple’. It's like an extension of S!

Pvlsea
J. . AL
o4 4 | JJ)

The grouping rules for § are the same as g. Within each dotted crotchet beat, it's OK
to group the first two quaver pulses together, but not the second two.

Wrong Rig‘\t!
X 9M DI v 2 iy JT)y

Complete these bars using rests. In Grade 3 you can use 3 instead of 3 7 if you like!

Time signature Deats

Qo (oS

raY A

11 - |
i e | e e 2 & i
1 1 T = I h 11 ~ =7 i

€, HERES A THOUGHT.. s oo ot lengenugh o il a hele b o 81 Yo b 4 wie o

s

In Grade 3 we often see a dotted guaver/semiquaver pattern, like this: m
Just imagine that m is a variation of m - it's worth one dotted crotchet beat!

Write the correct time signature for these rhythms:

< ,.00“ In grade 3500 can Use l'

Wl 1 |

[+) i i r J h i ()l. ry

o 1 Y f 1 1 i rd | Y N |
i T I\J | } L] )| | Le] I“ 7 ‘/1 : _H
o o —a—"—9—1 . — -
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The Duplet

2
A duplet looks like this n or like this . It is equal to three quavers, or one
dotted crotchet beat, For instance: 2

i I R

The definition of a duplet is:
‘Two notes played in the time of three notes of equal value' (lear this!)

Fill these bars with duplets (don't forget the mnber 7)

2.
-5 2 f-;;q 1] e 2 =1 |
g Il ‘ I 1 _H 1 1 ! 1 1
(» ) r J [ ] N ) ‘ il g :'.:'l_“'i “J—H_H
 —

Compose 4 bars of rhythm here in g . Use some dotted rhythms and at least one

duplet. Remember, in compound time you can use 3 instead of 3 7 if you want tol

p—o—0—0C it g +#—»
I i S

DID YOU #NOW... DuPlets are m%tlj Eound in comPOUnJ time signatures — 2 and %. Bt 1t 15
also Possllnle fo hae a JuPlet n 3, and it would fi“ p the entire bar!

H

e
e

A - N
7 s
Y e/
o

’jT
L]
Lh{
TTe
T )
1Y
:L:E

hJ 1 L7 1 1 | Bl I LI 1w [
LA ) 2 T ——

. - = > > f

Complete this bar with rests: 88— ] € c i
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Rests in Compound Time

- >

Like notes, rests must also be grouped to show dotted crotchet beats in compound

time. Look at the difference between ¢ and 3 , when both bars start with crotchets:

g I g DOHeJ crotchet rest 3 g g Crotchet rests sho

shous grouping in threes grouping in tuo

In compound time, a dotted crotchet's worth of silence can be written two ways:

3. or 3‘7

It should not be written like this % ¥ % and NEVER like this 9 &

As discussed back on page 38, a crotchet rest may NOT occur on the 2nd of three
quaver beats. For example, it is not ok to write -b 2 | The crotchet rest must be split
into 2 quavers like this: -b 7Y

When checking your grouping, it really helps if you draw dotted lines dividing the bars
into dotted crotchet beats. Here is an example of grouping in g time ()first urong, then rigH!)t

B0 Mt x 80 STy

Even though % is not technically a compound time signature, the same rules apply.
Complete these bars with rests. Make sure your grouping shows compound time.

N, ~
g < . < A U <
_ / . V4 ~ I
7 = \Z | ¥
Add rests ﬁefwe the pote! —™>
N N N
A L W) P < o < .
7 ] [/ b V4 pd
4 I 1 9% - ~—

HERFS ﬁTHOUﬁﬂT Time slgnatures uith the number 6 or on‘ the top are
COMPOUND Time‘ signatures uith 2, 3, or Y on the fip are S_INPLE'__
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Fix Thesel! Rhythmic Revision

Rewrite these rhythms with the correct grouping in the 'Fix it Up' column. The sound of 1. Complete these bars with rests in the correct order.
the rhythms must not change, so be careful with rests!

Wrang X Why is it wrong? fic it op! v’ ====== | R

2
g J Yoo Crotchet rests show wrong | J E 2. Add a time signature to this rhythm:
grouping of quaver pulses | § ¢ E 1 7
2 T I I 1]

i 3 I ] I I ] T T I I T 1l
2 Quaver grouping does not | 2 = |
P D mj D show the minim beats 2 J ] vl ] m 2
2 o
4 J 7 ﬁ 7 ¥ must be followed by ﬁ L o J 7 j\ ‘P 7 3. At each place marked with an arrow, write one note o complete the bar,

} }

O «—

g .b : v v Single quaver must be % J\ 1y E :

TP

P paemeapa

followed by quaver rests e et e Ir/ e e e
3
3 - Y e ogner | 3 4 = =
4. Complete these bars as directed.
Can't group semiquavers
3 ﬁ 3
8 j’ over beats 2 and 3 g J\ ﬁ ﬁ —}@ - a— It ) { f fla— e ——
—a4—4 S o o fe 7 F4 44
%J % ﬁ'; 7mus‘rbefollowedbyﬂ 200 sl 7
3 notes and 1 rest 2 notes 4 notes and 2 rests
3 Quaver rest must be 3 3
Z m 7 n 7 followed by single quaver | 4 J ]J 7 J\ -‘\ 7

5. Write a suitable time signature for compound triple time. %

Quaver grouping does not

% DﬂJ mﬂ show the minim beats 73_ m—-| o\ ﬂ m_-{
Quave ust be in 3s,
BITTIN 7 | romgorommgotress |4 JT1 2170 1

6. How many semiquavers would there be in a dotted semibreve? (Waming: it is not ok Lo simply

Answer “]otsn) 2'_“

0o o waublitzbooks.com.av for more yorksheets o rl\jﬂvm!
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Extremely Important Test

)4t
A——Fe =
& an ) iy
1. Name the following minor key signatures and scale degrees (e.q. tonis, mediant etc.) 4 s O ©
#os T -4 = 2 Q
Wi —_— 7 — €))7 l e a
Ly = Ny ) i P | =
o Y e

Key: C minar A MInDC E miAor G M E minor

) _ ) perfect cadence
Degree: ,Sugu‘mnr(. lead e submediant tonic,

6. Write the following cadences in four-part vocal style. Use semibreves.

Ao

plagal cadence

0.\
P Ay [@] o
Fi Al
| Fan R =Y
A4 A=A [ ]
[
o) o)
31
ye U [#]
AN =
v <
B fiat major

7. At each place marked with an arrow, add a rest fo suit the timing of the bar.

/4

2. Add the missing time signature and bar lines to this melody. l l l l
— - = o —— e N = H
m-ﬂ E 1 — G } :‘fﬁbﬁ — —— M ) < i
0y, ’ - E v ;ﬁ‘- =
3 R
3. Name the key of this cadence and state whether it is perfect or plagal. A 8. Name two compound time signatures, A
§ 4
. | | % and
AR — =
Key: A MQio/ '\3‘ = i” iD
Cadence: P!a?o.l S— A fgl 9. Name this scale:
I'. H%T’ f:\ l b A
; b ! ! -
] A= 2 e bo be o b
P4 = IrL ] I .
& i _E major
t)v i J
4. Write these triads with key signatures: 9
O - ] 2 /
A ) S —— 1 o A 5~ & —1 10. Name these intervals by number and quality. 5
| Fan WA - 112 (I £l e v [
A It} LiJ (o] AN i
[y, (Y fo
. . . ) l'f"c To3= TeSe: il 9 lLﬁ_#ﬂ—n
D minor E major B flat major 77— 7" — AP T— | 2 w— oS i
N 1 I v = A bc AN I}
Dominant (V) Subdominant (IV) Tonic () o o [
First inversion Root position First inversion . . .
P e otfeck Yt tajor A Majo/” 2ok mina( bin Major 3rd

5. Tricky maths question: how many J’ would there be in J ? H
44

Total: /50
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Transposition

=
- o

This is just like Grade 2 transposition - the rhythm and shape of the transposed melody
must be the same as the original. However, in Grade 3 you'll come across all sorts of
accidentals. You must always include these accidentals in your transposed melody, BUT...
you have to be very careful, because sometimes the accidentals CHANGE! (Ueeeerj {rlclg)

For example, here is a melody in C major:

|

!

And now here it is again, transposed up to D major. You'll notice that the accidentals
remain the same:

- ] .
- i R -
ig ié: I —
I T I 1 i 1 i |

[y) ' L e

-

il

But look what happens when the same melody is transposed down to B flat major. The
accidentals CHANGE because of the new key signature:

01 . i

=

L}
(1
_E;_

=S

The most important thing to remember s that accidentals do a job:
A sharp sign () always raises a note by one semitone
A flat sign (l’) always lowers a note by one semitone

A natural sign (H) could be raising or lowering a note - it depends on the

key signature!
46 A=y

Adjusting Accidentals

Each of the following melodies has been transposed for you (’wooraj.‘) except for the
accidentals (o). Work out what ‘job’ each accidental is doing: write 'R’ for raised and 'L’
for lowered onh each one. Then add the correct accidentals to the transposed melodies!

‘fl L~ f)
G — O e

0y ' e

tani

k]
L 1811
=

=

s

» ' Y
© I 3 218 ¢ s 6 4

- I | P I | 1 1%
|| = I 174 11 1
—— P | 1 = T LS I I

1. Identify the key and write the scale degrees under the notes of the melody.

2. Write the new key signature (below) and add the time signature. Transpose the
melody, ignoring the accidentals for now. Keep the rhythm and shape identical,

3. Circle the notes with accidentals. Write 'R’ if it is raised and 'L’ if it is lowered. Be
careful with naturals!

4. Lastly, add the accidentals to your transposed melody, being careful of the new key
sighature. The accidentals might be the same, or they might need adjusting!
T

| . 1 ) o -1 i &=
VAN ) I\ P f o K ] | I i F . [4 I ] 1 i)
A B L] & 13y f ud f ] | 71 Tt 1 T [l 1 1 1 11
v 1 1 I 1 1, {1 1 | 1 1 —H
W —— T H
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Let's Transpose

1. Transpose this meledy down to G minor.

More Revision

S
- -

1. Write the scale of D harmonic minor:

O . — - - o
L] s | 1 ™ = |
> 1 || I I
o 1 1 | I
N . iy - | & = | . ] 1 T I
ry) - I 4 I
N 4
Vv Fr - e n, ] I - I ]
A B L] 1N I —d 1 1 11 i 1 I ol | 3 ! - |
Iy {F I [ el I [ e Y 1 ] - 1 | 1 |
LY 1 1 1 ] 1 bl o ¥ — ¥ ] } I Y { 1 I
R B o | == v
0 1 [ ——
7 1 1 1 I
{ I T |
i il o fa - i
f B -
.0 [ 1 {
VY B I —————— ] T T 1
1 b I T o | I T T I ; E— I |
o—1 1 — g% L d i { | — ¢
J =+ 0 1" = FF ¥ <

2. Transpose this meledy up to € major.

* use a key signature
* yse crotchets
* write one octave going up and then back down again
+ mark each tone with a slur
+ complete the scale with a double bar line
: r— -Qﬁ'_' i L#-l’-_ - ;/_\. Y i
halll M - F. ] r 1 1 li lI 1 = I'F' F | &
2 i’ Ii — : —1—1 : 3| i
2. Transpose this melody down to E flat major.
o4 i - — I £
o — o — = m—
1 I I b I | I— 1 — £2] -
(3] [ e - #
3
74 .-’BK"'—I | B
] - - I 1—1 1 IJ T s T !
— e e e e R m—
L i hd 1 ] I S ¥ ] 1 1 1 | - |
~= v M +’ 'J‘g"— r J L

3. Write the following key signatures and the named scale degree for each.

. . ]
n f \ 0 r ) T
%‘,— — - el I e
& - A I — — |
L4 j — ! I I E— '
n . S E——— e e T f
o’ ] [ B A N I ] 114 ]
7 PO S I ST 11 N N O I
pA— T ¢ * == ~—
3
I X IU(J -! I I
I\——i—ﬁ'—ﬂ‘—bp——. T
D — ——
e L .
L - T I ¥ ‘ ! <
) 2 pbe = e he PR ) P
s
e P e =yt 70—
A I - A - / 1 A 7
P L8 |. 1 T — T b 1
Ea

48

o O — .

o) T e % H bl T & _ ‘*- ‘ &
— O [1IF Al |1 el K3 1 AN L)
A5 el I Y o (N4 4T 1] £au VA0 15

Ld 1N B 1T Lud RN [

[y o)
F major A minor D major € minor E flat major
submediant leading note dominant subdeminant

4. In eachof these bars, write one note to fill the whole bar.

.

.
il

Eam

[} L

1 1

1 1
I dhd Yo X

o
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Inventing a Rhythm

In Grade 2 we learned to mark the accents in a given piece of poetry. We did this by

placing an upright line in front of each important syllable, for instance:

lJack be ‘nimble, |Jack belquick

|Jack jump |over the )candle'sﬂck

If we treat these upright lines as bar lines, we can see which are the strong beats of

each 'bar’, as well as how many syllables are

The number of syllables in each bar (between each upright line) will determine which

rhythmic pattern you use:

in each.

1 syllable per bar

2 syllables per bar

3 syllables per bar

J J .

1) .l

J. J

JJ.

co O RO

J JJ

JJ

So if we were to write a rhythm in Z’ to the verse above, it would look like this:

e e e s o o o s 2 o e
e o) ¥ 7 C—
Jack be nim - ble Jack be quick, Jack jump o-verthe can - dle-stick.

Notice how the syllables are spaced exactly under the notes, and words with more than

one syllable are "hyphenated' (ihich means there is a hyphen (dash] separating the syllables).

The table above deals with 2, 3, and 3 as there is one strong beat per bar in these

time signatures. Now let's explore other time signatures...

In the time signatures of 2‘ and g, there is one strong AND one medium accent in each
bar. The upright lines show us where the strong and medium accents are, which means
each upright line represents half a bar, not a whole bar.

When inventing rhythms in 2‘ and g, use the following rhythmic patterns:

1 syllable per half bar | 2 syllables per half bar

fec| 4 JJ )l
: J JJ JJJ

Here is 'Jack be nimble’ again, this time in g: (Notice how this time there are Onlj Y ars instead oE 8l)

3 syllables per half bar

£ I N I 1Y
I B I

& , 5
o I — >
Jack be nim - ble

1Y I
1N I

P — 2
Jack be quick,

1Y | " T I N I ]
[\] I 1T 1 I I\I ! ]

Jack jump o-ver the can - dle-stick.

Now you have a go. Write 'Jack be nimble’ in the time signatures of % % and C. Write
the words correctly underneath the notes. If your rhythm goes onto a second line,
don't write the time signature again - it should only appear oncel!

2—+— — —— 1 f } . — i —— i
o S S —— —  — 2 7 P B — " M m— 1
Jock be  qim -ble Jack be 11uiok, Jeck dw"‘fJ o— ver e can- dle Shck.
2 N I N . . T 1 N T g N 1 T
] 1 LY I 1N | Y T T T A T I 1 | { N [
> — r———3 e S S ™ S S T m— E—" 7
Jade be  nim- ble Jodk be  quide,  Jade mp o-s dhe can-dle Shek
e e
S S— J— ) 7 S——) 9 9 & 7 _—) o
Jack be nim-ble Jade br Cruidc, \JodLJ\»\O o0-wv the  Con-dle ik

(o to wu.blitzbooks.com.au EOr REe mandscript PaPer!
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The Anacrusis in Poetry

Sometimes the first word or syllable of a line is not accented. All you have to do is
remember that the upright lines show us the strong or medium accents in the bar.
The ‘wind was Isfr'ong, fhe|r'ain was |har'sh,

The #‘rorm was ’rhelwors’r of the iyear' s0 L‘ar

In the first line, "The" will be an anacrusis.

In the second line, “The" is not accented and actually belongs in the bar before. It will
go in the same bar as “harsh”.

It's best to use a crotchet anacrusis in %, 3, 4 and €, and a quaver anacrusis in 3 and

2. But here's the most important thing to remember...
YOU MUST ADJUST YOUR FINAL BARI

See if you can finish these rhythms to the verse above. (RE§er fo he r'\gt‘\mlc patiems on pages ol
and 02.) Remember to deduct the value of the anacrusis from the last bar!

T I

I I
7 1 1
1

I n 4
1 1 ] I T
| 1 1

e S M e st m—

—fﬁili

The wind was s{ronji the  rain was hash The

{ iy
] I 1 { 1] H
| | | |

N ¢ y
1 Il 1
1 1 1
[ ] [ ] » & r ] [ ] & [ &

storm was the uorst of the year  s0 far

7

1 T | ¥ { Y

4

v o
-

1 t
Y 1| T 1 1Y |
T I | ]

|

The wind was Skm’\j. the  rain was harsh,

.Y

t T - r
1 1 I I 1

]
{ 1}
\ I
& &

W EE

T
1
1 {

storm was the worst of the yar  So far

rite the time signaﬂ)re on the Eirsf line OnIJ, even i)f Jour r‘vjﬂ»m takes p two [ines!

More About Rhythm Writing

Sometimes the second line of poetry is a little shorter, and you may end up with only 7

accents, like this:
I r.lsed to like ‘Winter' but r\ow T like )Spr'ing

The |flower‘s are |ev'r'vaher'e.

In % , % and %, it is not enough to have only 7 bars - this is not regarded as a
‘balanced’ rhythm. You must add an 8th bar and tie the last note over, e.g.

&y ) [ e——— ] ey e 1 | N — | N\ T
11— 1 1 T 1 [ 1 l\,l] 1 1 1 LW

[ ] 13 I
8 ? ’ ' ] ' T

S
ev' = ry- where. ‘)

Look! The Bth bar

I used to like Win-ter but now I like Spring The flow=- ers are

Try writing this verse again in % bas been 34j05fecl
T g — T ) — — I I Il A y pr—
= I 1 7 ] 1 T ] [ T I [} 1 1 T
{1 | 1] | \ ] ! 1 i T 1 | i 1 1
1 r ] r I ¥ [ ] [ ] y ] [ ) ¥ { [ A0 ¥ [ 4 [ F
1 wed o (ke Win — der bud  now T like Sprir\j The flow-¢rs are

} Y {l =|

ll v I‘ r 1

o' -y - where™

Now add some excitement: change « J into J j) or change ﬂ into ﬁ'

TOP T’lps )EO' R'lPPer R‘vﬁ'\ms

Mark the accents first and treat the upright lines as bar lines

=1

n%,3% and 3, each accent represents one bar

S~

’

(=]

n

L

and &, each accent represents HALF a bar

4
4
» If you have only 7 bars, remember to add an 8th bar and tie the last note over
‘) If there is an anacrusis, make sure you adjust the last bar

4

Try using J J’ instead of J J or ﬁ instead of ﬂ just for a bit of variety!
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Write balanced rhythms to the following couplets. Write the words clearly under
the notes, and hyphenate words with more than one syllable. Choose a different time

signature for each couplet!

My Dad will be very pleased!

Tomorrow I'm going to wash the car

i ¥ N foa T — 1 [y
L's] Al 1 { 1 1 1 1 1 | I
e} 1 11 1 1] i { i H ]
Y ¥ [ ] [ ) ¥ r ] [ ] [ ] r i
To - ™or-rows I'm do—h\J o washh dhe wr oy Dad will be ve — y
{ {
1 )|
& - [ ]
——
pleaged |
Traffic lights traffic lights red and green,
Then there's amber in between.
A " — —— t f f f
—~——3——4 z ? 7 7
Tra(—{iL (13[1\43 ‘l’mf-{f(. (ljb\,(’s red and jre.u\ , “Thea dhect)s am - ber
f f f
] 'I [4]
in  bed - ween .
They all say it is easy to swim
But no-one can do it as fast as Jim.
Q 1 B T— rN o
g 1 13 H 1 | Y | ‘l
—= ? P — ) 7 7
'n\t,j all Sav it Swim  But noe — ONL.  <an
T I -
j F .]
do i1 as

o to wblitzbooks.com.av fOr more practice in r!»jtl\m uriting!
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Crossword

-

Ly
-

T[oIN]I IC]
l oM
U N [AIC 10 R IDIA |

a3 I3

RIE\LIEIA S E]

g ™

ACROSS

2.

5,
6.
8

10.

13.
14,

15.
17.

20.

21
22.

Leading note of & minor (1,5)
A flat major has this key signature (4,5)
Chord T is known as the triad (5)

Ttalian ferm meaning to use the soft pedal (3,5)
(all Pge 52 fbr l'\h. L ulu aH c|vt; 10 15 21 ﬂnJ 22)

‘Tre Corde’ or T.C. means to the soft
pedal (7)

Position of a triad when the root is on the top (5,9)

Something you would never find in simple time (7)
(hint: repmember that quantss are SUPPOSED to be tn luos)

Johann Maelzel invented this in 1815 (9)

Do this to some rhythms in your rhythmic invention
(hin: 50 that t's ool all the sare) (6)

3, % and % are all examples of this type of time
(6.6)

Italian word for ‘playfully’ or 'jokingly’ ome for yeu!)
Abbreviated version of 'Sforzande’ (3)

N e

DOWN

The dominant is also known as the
the scale (5)

You don't always use a sharp sign to raise the 7th,
sometimes you use,., (1,7,4)

Chords I, IV and V are known as the 3
triads (7)

Number of minims in a bar of cut common time (3)

Type of time that has three dotted crotchet beats
per bar (8,6)

Interval of 8 notes (7.,6)

degree of

. Raise this note in cadences and triads as well as

scales in minor keys (7)

. The rules for the direction of these change in

SATB writing (5)

. You are often asked to write cadences using these

note values because of clue no. 12 (6)

. Vocal range with highest note middle € (4)
. The second highest female voice (4)
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Melody Writing

In the exam you may choose to write a melody to a given rhythm (instead oE uriting rlgﬂwm
to vords). Even if you've never composed a melody before, you can make it sound good by
following a few guidelines. Let's start by looking at this melody in € major:

A e :
A fi | | | 3 | | | | . ! ﬂ] pi : » } =
% . #.—ll-"-g. A=\ S B A
&/ ~ o "— I @
1 Vv Vv I

ﬂ\ings {o Notice

* The melody is based on chords - one chord per bar.

* There are two phrases: the first phrase ends on chord V, and the second phrase
ends on chord I.

* The chord I bars mostly contain the notes C, E and 6.
* The chord V bars mostly contain the notes 6, B and D.

Put a circle around C, E and G in the chord I bars, and circle 6, B, and D in the chord V
bars. We'll call these circled notes ‘chord notes’, or 'chord jumps’.

Pass'lng Notes

As you can see, there are some notes in each bar (the notes withot a circle!) that do not belong
to the chord. These are called 'passing notes’. Passing notes are GOOD - they give the
melody interest and variety. There are never any leaps to or from a passing note; they
must literally 'pass’ in a row between the chord notes, like stepping stones. Passing
notes should always fall on a weak beat.

Here is a melody with only chord notes. Play or sing it through - you'll find it's a bit
boring! Make it more exciting by adding a few passing notes. You'll need to turn some of
the crotchets into quavers to do this! (And remerber, o 3y not leap to or Emm a passing note!)

O -~ T~

Y4 & N H——1—J— '—‘—ﬁﬁ—l—ﬁ‘—ﬂ
ry) [ R ~— =
v

I

-

Here's a rhythm for you fo write your own melody in 6 major. Clap through the rhythm
and decide on the phrasing. Mark two phrases with slurs.

S N N e IR S

Now write a melody below, following these steps:
1. Use one chord per bar for now. The best chord sequence is I V V L.

2. Work out which notes are in chords I and V in G major. Write these note names
above the bars so that you know which notes you'll be using the most.

3. Compose your melody using a mixture of chord notes and passing notes. Use chord
jumps for the longer note values, and use passing notes (i.e. scale movement) for the

shorter note values.

4. Whenever you use the leading note, it MUST go up to the tonic, unless it is part of
a downward scale passage.

5. Make sure your melody ends on the tonic, and mark the phrasing.

DFA
, G8D DFA _bH &
M e >~ . , .
y A o — —# — ——  —— — i P
| € v WD [ ] Py | I H 1] 1 L | I 1] | Ll P 2
e 5= ]

The Anacrosis

Sometimes the given rhythm will have an anacrusis. The best note to use for this is the
dominant (scale degree no.5). Try a melody in F major to this rhythm (Eo”w the steps above):

00 I I R S I I S R D

Circle the chord notes in your melodies. They should occur on the beat. The uncircled

notes are passing notes; make sure you haven't jumped o or from a passing note!
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More Melody Hints teastey

The first and last bars must be based on chord I. The melody may begin on any note
of chord T, but the last note must be the tonic.

If there is an anacrusis, use notes from chord V. For a 2-note anacrusis, use scale
degrees 5-4 (leading to the mediant) or 3-2 {leading to the tonic).

The second last bar must be based on chord V. This means the melody will end with
chords V-I, a perfect cadence.

It's best to reach chord V at the end of the first phrase.
Never leap to or from the leading note, unless it is from another note of chord V.

The leading hote must go up to the tonic. It's OK if it leaps to another note of
chord V first.. but even so, it must eventually go up to the tonic, e.g.

- -
Trem@m o E | reeerife o
(Y] (.| = )] — f
el /
”ﬂs is incorregt — (he ieacllng nole ”w'ls is the correct lopic — the
’135 nol rBwluBJ UD le lLB tenle Jeadins aole Las rﬁsolveJ UP(

Always use chord notes on the strong and medium beats of the bar.
Use passing notes to create scale passages for faster rhythms.
Never leap to or from a passing note.

Avoid repeated notes - they hold up the flow of the melody.

A leap of a 6th or 8ve can sound really good. The notes immediately following the
leap should move in the opposite direction to the leap. Aim for just one or two large
leaps in your melody - the rest should move by step or in small leaps.

The melody should be comfortable to sing. Make sure it covers a range of at least
one octave - don't get bogged down in the same five cr six notes.

Try using chord TV (hoy 2dientwons!) in the first half of bar 2 or 3, leading to chord V.

Try to sing though your melodies, or play them on your instrument. This way you'll
get really good at hearing them in your head!

Compose melodies to the following rhythms, in the keys specified. Remember to decide
on the phrasing and mark it in. Revise all your melody writing hints before you startl

vemaor 4 JOIJJIJ IV DI ANITII)L M) J
T T~ e

J —] i ¥. !

et} J 30 VT3 MIIIT3T010

[
,

" S — p— t o | — I
LV T S P [ i B RS E— A— — SR —) T A
Ty —— 1 1 A — 1 —t 3 <
L V. [ — I — i " —t—T—1
Ul I L ¥ ——

J+ i F. ] ] ]

H 1 T — 1 1 - I - p ﬁ 2 l ' 2 E I
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J v hd v “— ° A

semair £ ) LI JTT3) 10 JNTT)
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|

i } d ] I| ] r_] I

NV ‘]l 1 J‘JﬁFJ?_[I- ! Il [ _! i d & — } —nH
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Another Revision Test

-

-

5. Worite an interval of a major 3rd above each of these tonic notes.

b

O H
: f he k = o &) ey A H#ry HA ey H
1 Complefe. this perfect cadence, and name the key. /5 Z —— -2 nley il W] ey =2 = 1
S Y] ry) =S
O | ,
P 4 L‘[l I
 n Nt - =l G .
kil .
r) Key: MIAO~ 6. Name the key of these subdominant triads. A
- d d
25 P P ﬁ:ﬁ§:ﬂ MQ
I r i ) e
A majoc A wajor
2. Write a rhythmic pattern to this couplet in the fime signature / v
of your choice. Write the words neatly under the notes, 8
7. Transpose this melody up to D minor.
I wish this test was not so long
'Cos T just don't want fo get things wrong . , , T —1 [ 0
Fef 7 Irrpr—r e rete—er—r i
l = ] — .
—p—1— i) { —T1 ! i | = —
o — m—— — —1— R —T—
| wish  this dest was  not 5o loag  '(og | -~ T
7 2 e 1 e e s e | e o e e
7P  — e — - e S i " |
t fx 1 h—1 t B t 1 '
' — " E—— 4 ) i
J\AS‘\' doot want Ao Ju -fh\‘r\js wrong
3. Write the major scale with the key signature of four flats:
-
3. Write the range of the tenor voice here: & y—— s * use treble clef
< * use accidentals - not the key signature
* use crotchets
4. Write a melody to this rhythm. Mark the phrasing. /8 +* write two octaves going dowh
4 e * mark the tones
4 ] r ;;g'r E ‘ r r |' | r r | F “ * circle the mediant note in each octave
o P * complete the scale with a double bar line
P = T —— =
'\E)D“’TLJ‘..'faz e === Jot o e e
1 1] 1 ] 1 1 1
Tty 1 ] 11 P | I £ N N
37 1 1 1 17 g 11 4 113 || 1|
29 y 0 S b
I L I \,__/
s /

Total:

<

60



Terms and Signs

-
-

~
r

2 There are LOTS more terms to learn for Grade 3 (oh ll). The terms listed
| below are in addition to the terms for Grades 1 and 2, which you can download

LT

===/ {rom www.blitzbooks.com.au. Also try the BlitzBook of Theory Games!

Agitato

Attacca

Animato
Tranquillo

Con anima

Con brio

Con grazia

Con forza

Dolce

Risoluto

Ben marcato

Una corda (U.C.)
Tre corde (T.C.)
Main droite (M.D)
Main gauche (M.G)

Ad libitum
Opus (Op.)
Loco

Sforzando (sf7 or sf)
Forte-piano (fp)
Calando
Morendo
Largamente
Larghetio

Con moto
Prestissimo

8va (‘ottava’)

MM,

with agitation

go on at once

with animation

calmly

with feeling

with spirit

with grace

with force

soft and sweet, sweetly

with resolution

well marked

(one string) with the soft pedal
(3 strings) release the soft pedal
right hand

left hand

at pleasure, quite freely

a work or group of works

at normal pitch (after an 8va sign)
a strong accent

loud then immediately soft
getting softer and slower

dying away

broadly

rather broadly

with movement

extremely fast

play one octave higher than written
Maelzel's metronome (metronome
marking)

Quick Quiz

This quiz includes questions on terms and signs from Grades 1 and 2 as well as

.
-

b

a=—=| grade 3. Make sure you go to www,blitzbooks.com.au for a complete list of
terms and signs!

1. Explain '8va’ Otoya_- ‘0\0\3 | octave lnig\nar than weitten

2. Write the Italian abbreviation that means to play with the soft pedal: ___U.C.

3. The definition of a duplet is two notes played in he time of three note g of
Y ) equal valug,

4. What does 'loco’ mean? OA norma | ?\{’d/\ (a{‘hf an fve S\'S(\>

5. Write five Italian terms for tempo in order from slowest to fastest:

adggio andante qllcgro peesto prestissimo

sl(mij at an eayy ua"dng pace Iivelj and fast ' very Eaat I extreme]j Eas{

6. Explain M.M J: 60_Mael2e\'s McAronome, ot od 60 crothet heods per
minate

7. Give the Italian and English meaning of sfz: Sgoflando - with a S'{'rorg accent

—
»

8. Add a mezzo staccato sign to this note: r

9. How many dotted crofchets are there in a dotted semibreve? L

C.ajMfg
10. Translate the Italian/French words in this sentence: The boy walked rranquillo up

to the dog and held out his main gauche, but the dog barked con forza so he ran away

o le€t hand with force
prestissimol

as Kast ng {ms.'L,U-

11. True or false: Writing ‘Sva’ underneath a passage makes it an octave lower. Tcue
bud showld be fva loassa 63



The Sequence

R
- -

The definition of a sequence is 'a pattern of notes repeated at a higher or lower pitch'.
All the rhythms and intervals are exactly the same, only the notes are different.

Look at the sequence in this melody:

N f |
y AN 3 f ] 1 ] 1 Il I I ] 1 1 ] 1 ] | | 1 |
hd

The first three bars have the same rhythm and the same intervals, but each bar begins
one note higher. Which bar breaks the sequence by not following the pattern? boy 4

Here is another melody with a sequence:

0 | | I N 1 —
e e — a— i
] = =~ — H —
T e— T T — e
Which two bars have the same rhythm? 2 and 3
Do they also have the same intervals (shape)? _Ye S
Then this is a sequence! Put square brackets like this [ I | over bars

2 and 3 to ‘mark’ the sequence (one bracket for each pattern).

A sequence must have fwo or more identical patterns. Look at bars 5 and 6 of this
melody. The rhythm is the same, but the intervals are different, so this is NOT a
sequence:

i
TR
i
H’
i

f {
[)) [ U = -

Now look at bars 1 and 3 of the melody above. They DO have the same rhythm and the
same intervals, but they are not consecutive bars so this is NOT a sequencel!

RENEMBER: To make a (seq’UEnCE‘, tuo or more Pafterns must have identical r‘vjt‘vm and interva's, AND
tkej must be consecutive. I)f the Patterns are not next to each oﬂ»er, i not a seiuence!

64

Sequences are not always easy to see. Let's try spotting the sequences in this melody:

r] - T T R
T i — €4 c— — 1 e —) &-—]
I — = | T =
—T— i i ] i |
| e— I —— e R ! H I — i |
I ) - I o S

Bars 1 and 2 are completely different; bars 1, 3 and 5 are the same in rhythm and
intervals but are not next to each other. Maybe you are thinking: ‘There is no sequence
here!' But let's look again...

look at bars 1 and 2, now look at bars 3 and 4. Can you see the similarities? So the
pattern in this sequence is 2 bars long. Mark the sequence with square brackets.

Look at bar 0 O)E the melodj aboe, It seems a t'flrJ Paftern is start'lng — bot bar b 1 J'IEEerenf! You must
aluays check that the patterns are exactly the same length, othendse they camot be part of the sequence.

Sometimes the repeating patterns are a lot higher or lower than the original pattern.
Mark the sequence here with square brackets.:

:
i
U
L

It is possible Yo have an entire sequence in one bar! Mark the sequence here:

f g T— |' — —T —
1 i i

2 i

t‘.~/
£
O

-

e

|

Sometimes the patterns have an ‘anacrusis’. You'll find that the brackets for this
sequence go over the bar lines!

f)H"H.' 1 A ‘ |

) i == [ T 7 — |
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Timed Test IT Tione:

Once again, time yourself doing this quiz. Do it as fast as you can, but remember your
teacher will ADD ON 10 SECONDS for every mistake. Start the clockl

3 3 3
1. Write three time signatures for simple triple time: _ & , 4 and _ 2L

bo

O
2. Name this interval: M: Pcr{cd guve
[y

7"“0

!\Q);

3. How many bread rolls are there in a baker's dozen? _|3  (hee hec)

4. Complete the following bar using notes, including at least one duplet:

2oy -

-
o

l‘ T
]
T

]
1
1
1

g_
o]

0
5. Name the key of this tonic triad: :@:ﬁg: E wminoc
) <

6. In perfect cadences and melody writing, the leading note must go to the fonic

) -
A —po——

()

7. Write chord IV of E major in first inversion with accidentals:

8. Mark the sequence in this melody with square brackets.

R —— — ., . |
gg + F E | —— ~ T—1 —
T Y 1 1 I »
Ii } i! L T 5 % | I

STOP THE CLOCK - FILL IN YOUR TIME AT THE TOP!

[_IT made no mistakes! T
LeeP My time OE |

[T made _ mistakes.

MJ new time Ts

Form

- =

Let's quickly revise some second grade stuff about form.

BINARY FORM (A B) TERNARY FORM (A B A)

2 sections - part ‘A’ followed by part ‘B’ 3 sections - part 'A’ followed by part 'B',

then part 'A’ repeated

Often 8 or 16 bars long Often 6, 12 or 24 bars long, or sometimes

8 or 16 bars with a 'D.C. al fine' sign

Section 'A’' often ends on a note from
chord V

The 'A’ sections could be identical or may
have variations in rhythm

Study the form of the melodies below and answer the questions for each:

A B
| ] 2 !k\-? - £ - 4 | A
7\ bu 1 11 I A\ i | | ] 1 I’I IP } 1 ; T +#
Wﬁﬁﬁlﬁ#—' H
f \ 7 8

p o e’

asmiE=— i . o EE———
(5?2 ? o 5 T ——
2 e ® 3 3 Jh# ke
* Name the form:_Binary Mark the sections with the letters A, B etc.

* Mark the sequence with square brackets.
* What rhythmic device is used at the beginning? (Hint: t's the name Ew notes kefore Eirst bar line)

Anacrusis
B
2 3 4 5 3 6
0 # A [r— ] e ot B |
! = T
Il 1 | | |
) [ |
7 8 9 10 11 12
f)H- J— | A — |
" A I — | | 1 | I - T I | I |
' e
1

* Name the form: T&rr\artﬁ{ Mark the sections with the letters A, B ete,
* Name and describe the rhythmic device on the first beat in bar 5___Tr l"DIL'{' :
3 notes elajié in the hive of 2 notes of u;LuJ Value,
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Rondo Form Being a Form Detective

.- - - -

In Rondo form, section A occurs three times (uev!), separated by sections B and €. So f- u
Rondo form has five sections: A B A C A. Here is an example: orm Ues
BINARY — Usually 4, 8 or 16 bars lon
A 2 3 4 5 B 6 Y 9
W Two sections = Section A often comes to rest on a note from chord V
) ' 1 | e (AB) = No 'D.C. al fine' sign
A ’© . ' - 0 0
Often 12 bars long, or 8 bars with a 'D.C al fine' sign
’ “7 '—F_'“._!(lg == ? } i 0 Ill- ﬂjlz h — 1|3 F‘ ] TERNARY ’ ’
i I = - frm—#ﬁ‘i"“ﬁ:t‘:’_‘:ﬁ O Section A often ends on a note from chord I
 I— T 1 1 i T T Il | ] I - I\ .
v ] ! ! Z:‘;i?; sections 2 The return of section A may be slightly varied
p Is 15 17 A 18 190 20 =2 May look like binary form but has 'D.C al fine' sign
,Q — T T - { r-l - i i |
E C— o e e e 1@1}%1‘% =2 Often 20 bars long
) < o — — | RONDO : . L -
= Section A occurs 3 times, possibly with some variations
Five sections > Could be presented with 'D.C al fine' sign
(ABACA)
How many bars are there in this piece?__2Q__ (This is usually your best clue for — Your best clue is pieces in Rondo Form are usually very long!

identifying Rond .
identifying Rondo form.) Study the melodies on this page and the next page and name the form of each. Mark

Music is often set out in 4 bar phrases. Look at the first 4 bars now... do you see any the sections with A, B, C etc.
other similar sets of 4 bars? (Mark each of these sets with an'A’). IA\
Look at bars 5-8 and 13-16. These sections are different from the A section AND they - — ] !
1
are different from each other! So you'll need to mark these sections with the letters B [y, T
and C.
A

Now you can clearly see the five sections: A B A C A T — — '

Y Y ey 1 1 — i J =} o —+— ———1 ﬁl E # dtﬂ

You have probably played pieces in all different forms. Analyse three of your

Y
o
O
B,
=h
=
o

instrumental pieces with your teacher, then list their titles and form below.

(Try Lo find one n each of the three forms ve've studied!)

A

i ; T B ! TN
1, Title Form o i {“ﬁ E '| = - ’ r i. - e
2 Ti.fle F | | 97 A N I | | 7 1 ] i T — { ! I ! ‘A
. orm - 1 14 — 4 i v —
3. Titl ' .
68 e Form Form: Blﬂqr‘j Key: _A minor
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There is a sequence in each of these melodies. Mark them with square brackets, as well . ()
as marking the sections! B MC'OdleS n S'h.lff _

o Study this melody, then answer the questions below:
— i 4 B
I
. 0 e e
— F
b f Fine
' S 7 8
o [ .
A SR =
H f %y“v ’ ! } 5 o — ] i I - IY)
i e e e = — 1 ——] D.C. al fine
o ; . b .
C (i) What key is this melody in> __B Major
b -

- F . y , : -
— ?_‘_'ﬁqﬁ:ﬂmﬂ (ii) Name the form of this melody TLFY\(A(“kj Mark the sections using A, B, etc.
v || 1

| | ' | — — (iii) Add the missing time signature,

:
|
;
§

D.C. al fine .
Form:  Rondo Ke £ p (iv) Why is there an incomplete bar at the end? Becouse of the anaccusis
orm: d y: MQ, 10
(v) Add a sign to show that bar 2 should be played an octave higher.

A 8 (vi) Add a word to show that bar 3 is to be at normal pitch.
/) | . —— i!_ — = ? (vii) Add an Italian word at the beginning to indicate the melody is to be well marked.

| —— R = S (viii) Add a sigh to show that the speed of the melody is 100 crotchets per minute.
) | - |4
A A (ix) Mark any sequences with square brackets like this | I |

i -

j

Form: Tcmanj Key: F Mctjo/'

A 8

g
| 108

~

w3
Bk |

=
C A

-
7 — .3
0O v
T A ! e e (i) Study the melody above. What form is it in? Rondo

(i) Mark the sections using the letters A, B, € etc.
(iiiy What key is it in? D minor
(iv) Name the device marked with square brackets. Sequ«uu_

Form: _Rondo Key: R’ MO\\}Of

: |
70 60 to "”“‘LhtZLooks‘com'au Eor moré ”°rL5Leet5 on Eom. (v) Add signs to show that the ‘A’ sections are loud but other sections are soft. .



Absolute Final Revision Test

1. Complete each bar with rests in the correct order. A
3
g3 == 1 Shyv = s ——
S~ 1} i ¥ - — 1
2. Name the form of this melody and mark the sections with A, B etc. A
A B
= 1 p— 1 | —— — I
e g I T Tg o o |
) L ; : - sie

Form: Ttrnqrj

3. Now transpose the melody in question 2 up to E major!

Qﬂ 11 - F__‘:? —— |
v T y_ E— —1 S —— l
ATH 22— T—t+——T71 T t—1T—1 S S S T S — F_‘Q:":#
R S e SEBTiLmesEsE
U hd ] &_1_-—‘ |
N T T " ® )~ r‘-:l T = = )
@;ﬁ;"—.\—_—’.——'—ﬂ—#Pii’Fl IS B T e e A | A e
1 ] | I | T = L] 1 hud ¥ _ 4 had 1 L1) I+ i
y = e =
/%
4. Name these intervals by number and quality.
0 0 o ) do
A— - y—eo pa H6): 8 A" # !
o M L= y.4 P [ fan (@) 17 11 fan) F= |
ANG"s =4 ANGY. il TN © 1
e/ o) [y
major 2nd pufect St _minoC Gt minor 3cd major Ty
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5. Write the following cadences in four-part vocal style with key signatures. A)

7 )+ 7 )\
pid g U Py 0
¥ V AU AW ~
S Q = A5 e O S)
(Y, ™ O [Y)
= o] . ho -
o Ew+: )b ;
A - S g = o
N e N v
G major C minor
plagal cadence perfect cadence
6. Write a suitable rhythmic pattern to these words. A
I will make sure that I do my best
In the 'Absolute Final Revision Test’
& — { t t 1 | ) i\ { I
R S " — + v C—
I Wil maa swle Mk T Ao ™ best  in e
— [ 1 1 1 1 N
ll \ | I| _i | 1 1 ..))
— R ?
“Ab s so- Wk Fi-ndl Qe - W - Staa Tt
7. Compose a balanced melody in B flat major to this rhythm. /8

w0
B

Q
B
L
A )

.
dgaddddiam
e S o

J l‘ i

PR

V]
©

|
» \3 1

A

ol )

il

8. Name an ingredient found in chocolate cake. chac ck‘HoS{ (ok this is not reaug reyision) A

Total: /50
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Word Search

The answers to the clues at the bottom of the page are hidden in the grid!

1
2
3
4
5
6
7
8
9

NIR[E[S|[I [M[P]L[E) I [M|R
R|M[P[ol[P [E[RTF]E[C DG
C[o]MIP/[OIUINID)L|EDF
[E\(N|[E[|[R][E]C[C[O[SHO|U S
D||A[THA|E |H [N |A[T O L™
R|| 1 [[RYNM (CTA [R [ U/TATR
o|/|P|0||ONAN |A [E/NAT IG|N
CllE[IN[A [ TNNRIANT (A |A]] 1
E[[T|o[N[G [NXD [ATE[LCHR
R||R[M|R [ T/DJGNWND |G [P} [E
TilO[€/|NTEAN [H|| LNOYR |E |L
N \F)IN P |AT/1 IMDM[R

. Italian for 'loud then immediately soft’

. g and g are both examples of this type of time

. This note must always go to the tonic
. ‘Main droite' means to play with this hand

. Italian term meaning release the soft pedal

.In St MP\Q‘ time the beats are NOT dotted beats

. Technical name for scale degree no.3

. This accidental is sometimes used instead of a sharp to raise the 7th

10. ‘MM’ refers to this piece of equipment

11. Alternative name for the game of football {nef essential (rade J knouledge)

12. Cadence involving the chords V-I

13. Female vocal range beginning on middle €

14, Chord V is also known as the domil\wd' triad

. Type of cadence often used at the end of church music

The Blitzhook
of Theoy
Games ‘was

more Sames,

Pvzzles anJ

Elas‘»carés!

Test Paper... sort of

All theory books end with a test paper, but this one is DIFFERENT. It already has the
answers in it (mostlg urong ansuers) and your job is to be the teacher - you have to mark it.

When you've found all the mistakes, go to www.blitzbooks.com.au and download the
EXACT SAME PAPER - this time with no answers already in it. See if you can get 100%!

Total Marks 20

KEYS AND SCALES

A. Write the harmonic minor scale that starts on the given note 3 A
e add the key signature )
e write two gctaves going up fMSd
e mark th with a slur % /HL\-;
¢ complete the“scale with a double bar line : ~
~
hHoi | 1 { ] l Adl
A T t } { f P o o—= ”
. .Y i 1 1 1 ] = [&] =4
S e — -
g ~—
“ ~
B. Wirite an E major scale
® use croiche
* write TworoctaVes going down L
e mark the semitones 2
e complete the scale with a double bar line l’lﬂ{ r lingt 6
. | — aot qreat
D : |
aa] b W =l l' 1 | 1 ! {
! RS o o
—
S
R
S~
C.  Wirite these notes with key signatures 3 6
0) ii) (iii
By ] T Qﬁu' = i b .lD I
P = - — s b i
Ll »J bl NIV [NV L) ]
) D]

/G-u'ﬁor A majo @major
eading note suﬁ supertonic
fead 75



D. Name the key of each of these melodies {
2
! T | b .
e b key A major
B - } T i 1 i W
L s L | L
o g | Ky . Eomyer
i T : T ) \<
Question 2 INTERVALS Total Marks 10
A. Write these intervals above the given tonic notes Z 5
O s @ @ m W gl
e e
l\m jrd %] . © @ [ & ] . L I\’\_Lﬂ\v
e e )
Perfect 4th Perfect 5th Major 6th Major 3rd Major 7th
B. Name these intervals by number and quality 3 5
Ve
(i) Ve (ii) (iii) (iv) v) /
. n o f A
} Py e)o——byy y.4 o A Ty Y —Hoo——
e e v — ) G—o—0=
O e )}
MQJQ( A M>3<r 4l quof (O*L\ %C_g.@_ m.‘:g’.’.f..g__'f\d

CHORDS AND CADENCES [kl & |

A.  Write the following triads with key signatures b4
9
0] (i) (iii)
hX > /
g ] Fp = g n
<3 1 b 0 === —
°)
E@major / G minor D minor
dominant (V) tonic (I

subdominant (V)
sion

Root position

ot ers

B. Write these cadences using . Write the key signature

8
i . i)
e ‘
b '/\‘1 4] ;LQ_#IL# 1
[ £ .o W
° D}
2 Longegud ey w
. D I — i
[&] 2 i d 1 1
— " 1 ¥
© T
C minor A major
Perfect cadence Plagal cadence
4-part vocal style Pianoforte style
v
2
C. Name this cadence and its key
54 :
Cadence _E-_-____nr_x_i_r_\n_-_r:_\j ) ! |
Ke P | Aa o | \/ " o
y 3 HD T m— -
LA ! }

!

TMPORTANT: PianOEorte stﬂe is no longer fested in Orades J and leeorg

TIME AND RHYTHM

Total Marks 17

7z
A. Complete each of these bars using rests 8

(i (ii)

T )

r \ o | % — 4

r— o 1IN 59 LY - A

= { 2 )i I (_ .
(iii) (iv)

A
W
P

a1

I~

™
Nl

WY
]

|
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B.  Add a time signature to these rhythms 4
(i) (ii) /
\ o) )
i i 2  —
- 'Y
(iii) (iv) /
, /
s i 4—+
I
C. Add atime signature and bar Iines to this four bar melody / ’)’5
- A, (o
. 7 - t?—r - 1 P |
{ A\ |\/‘2 )] = ]\
. I\ Aouloe
bar negdool

transposirion | EERERIINECIRRENN 0 |

Transpose this melody down into E flat major.

H ? |

: 1 '—. ‘
Fate — e T — o —®

713 5 GlW@))s 6= 1 32349¢ 5 , |

Lo | \ | | 1 d ~ \ \

Jo 1 D Fd) N\ | £\ l‘J 8 =<1 \ \ 1
7 51 1= 4 TAY Y 71 X LI ) ol
7V 1 Py

K

*..
o
Ny
4]
x@:
ol
b

Keep 40ing, enlg fuo ?ages ta 30‘ When cyoa e done g0 to wirblitzbooks.com.av to get the
/.::‘*“-‘-j-y; Uncompl&teé vemon. 9‘05 Jou can Jounloaé anoﬂ\er &xc&”ent GraJ% 3 “\ij BONUS yac’a (mbc'a

?ape( + Uncom?'e’ceé ersion) ubich has all the létesf Bxam!né’ciﬁn*sigl q}vestloning‘




CREATIVE Total Marks 16

A. Using the time signature g, write a suitable rhythmic pattern to this couplet: 3/
8

High in the mountains a(songbird fle;«)
Up to the sky a tall tree grew

Write the words clearly under the notes. Use hyphens for words with more than one syllable.

[
Mkmm \ ‘s

_% — i —7 ] i — 1 N
) .2 @ Y i e "] -' :‘ ;‘ nl c\
“‘3\\\‘\ the  mouwataans A 308 4 bid £ lew up Yo My skx:) a
AN
P\U\St ’”\L\ﬁp
X ™ 1 1 1
 — Cn )
BN reg. Srw
Avdomard
B. Write a melody in D major using the following rhythm. %
6
: DITTIITI NIRRT IITIIN D)
clek ! |
— = N o\ 5
R A e =—-——c=s=———co—e—=eee
100 gralAness R\M{:&& X0 /";7
TRefehe ‘“,& e
“\ “@\V
por L rophtE
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TERMS AND GENERAI KNOWLEDGE [V PABU TR K]

A

C.

Write the range of the tenor voice ?“g\ ] 0 f
using an appropriate clef M\ © 1
>
Give the English meaning of these terms
i d digs Onn] g (/2— 4
(i morendo b 0 e e
7

(i) MG mMmoln nguQ.L\L =

(i)  attaca artfone k.

(iv) calando Sanme s Morind o

Study the melody below and then answer these questions

80

0
(i
(iii)
(iv)
(v)

8va.

Name the key of the melody .5 nova=. v’

v

What form is this melody in?_Thres, S)Ans Mark the main sections using A ,B, etc

Describe the time signature __Q___aquexers fT _ ba

Mark the 2 bar sequence with square brackets. X

Explain the sign under the last two bars P\mj an__OCtave m\w Hiean

Now [ to uuu.“'ﬁfz‘)oolxs.com.av and an'oa& the same

100] | paper, a el as NOrLaLeets, mantfscr'lpt and more!
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